


A hemispherical bowl of internal radius
6 cm contains a liquid. This liquid is to

be filled into cylindrical shaped small
bottles of diameter 2 cm and height 4
cm. How many bottles will be needed to

empty the bowl?
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Water is flowing through a cylindrical
canal with an internal diameter of 7 m

at the speed of 18km/h. find the volume
of water flowing through the canal in 30

i 22
I_S\l)_( 57( 30X 60 minutes. (Taken = 7]

“1 7 N JTaR® AN aTell U IAATPR 8% A
"'-'l\"\ g 18 fdft /ger & 1 9@ 98 @1 2 | 9
) difoie {6 T8Y d 984 drd Ul &1 A

30 e & faha=r =i

?g 376500m3 wasesoo:na
66500m3 (d),846500m?



A hospital room is to accommodate 56
patients. If should be done in such a

| way that every patient gets 2.2m?2 of

45& b: .%RQ-Z. floor and 8.8m:3 of space. If the length of

/Pf’ the room is 14 m, the breadth and the
b = 2% height of the room are respectively
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(c) 8m, 4m (d) 7.8m, 4.2m
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The diameter of the base of a right-
circular cylinder is 12 cm and the
height of the cyinder is 2.45 times the
radius of its base. Find the curved
surface area of the cylinder
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The difference between the
circumference and the diameter of a
circular field is 60 m. calculate the cost

of covering the ground at the rate of Rs
500/ m? (Taken = 2—72}
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(a) Rs 608000 (b) Rs 408000
(c) Rs 508000 (gh) Rs 308000
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A cylindrical pillar has a curved surface

%g area of 264 m? and a volume of 924 m?.
What is the ratio of the diameter and
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U da-dR WH & gAHaR dds 836

Z 7264 i Hex o amaaT 924 @i Hex 2
AN f/) S%T AT 3R Halg T IJUd 7T 27

ddf73 (b) 3:7
(c) 3:2 (d) 2:3
|Y: 4

e ®  yxheby



If the length and breadth of a
rectangular field are increased, the area
increases by 50%. If the increase in the
length was 20 % by what percentage was
the breadth increased?
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(a) 30 M) 25

(c) 20 (d) None of these
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. AABC is an equilateral triangle of side 7
cm, Find the sum of the circumference
of circles that can be possibly drawn on
its median as shown below.
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If the diagonal of rhombus in 8 cm and
its area is 48 cm?2, then the length of
each side of the rhombus is

afe wwagqys &1 fasel 8 AW IR SUSI
g9%d 48 9W° 2, A WHEgHY @ TAS
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(a) V13 cm ¥ 2/13cm
(c) 613 cm (d) 513 cm
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The side of a square is S cm. if the side
is doubled, by how many times will the

area of the squar

Uh 9 @ o 5 §A | A} q Bl

(b) 2 times

\@) (c) S times (d) 4 times



If the perimeters of two squares plots

are 52 cm and 20 cm. Find the
e’ \-——n

perimeter of a third square plot whose

area is equal to the difference of the

areas of these squares is
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(a) 44 cm (b) 32 cm

o1 48 cm (d) 30 cm
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A plane cuts a cone such that the
volume of the whole cone is 125 times
of the smaller cone formed. Find the
height of the smaller cone, if the height
of the full cone i@.
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(a) 2 cm W 3 cm

(c) 4 cm (d) 6 cm
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(a) 175t cm® (b) 150 cm®

The radius of base of a conical circus
tent is 4 cm. It is cut by a plane parallel

to the base of tent base of tent in such a
way that we obtain frustum of height 15
cm by cutting the conical tent. The
upper circular top of the frustum having
diameter 6 cm, then find the volume of
the obtained frustum?
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Find the capacity of bucket in cm3. If
the height of bucket is 63 cm and radius
of circular parts are 32 cm and 11 cm
respectively.
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The difference between the outside and
the inside surface area of a cylindrical

MW( K0 zippipe 14 cm long is 44 om? the pipe is
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made of 99 cm?3 of metal. If R is the
outer radius and r is the inner radius of
the pipe, then what is (R + r) equal to?
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(a) 9 cm (b) 7.5 cm

(c) 6 cm \) 4.5 cm



The diameter of a roller is 42 cm and its
length is 6 m. it takes 250 complete
revolution to move once over to level a
road. Find the area of the road
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The base of regular pyramid is a square
and each of the other sides is an
equilateral triangle, the length of each
side being 20 cm. The vertical height of
the pyramid in cm is.
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A hollow iron pipe is 10 cm long and its
external diameter is 18 cm. if the
thickness of the pipe is 2 cm and iron

weighthen the weight of
the pipe from the iollowing is

e Al &1 Us @igar ugy 10 9 o4qr 2 3R
gU®T qredl g9 18 4W 2| afe ursu @
Aiery 2 9M 2 3R dle b1 999 8.5
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8.54 kg (b) 9.54 kg
Bquxzzm (c) 7.54 kg (d) 5.54 kg
F e )




The diameter of a right circular cylinder
is equal to its height. If a sphere of max
volume is cut from its and the
remaining part is melted. Then from
this melted part an another sphere S, is
made. What is the ratio of radi¢g of
these sphere S and S:.

Ud 97 & ol aNgdld dod &I &9
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The side of a square is equal to the
radius of a sphere. This square is
rotated along its side and a figure is
formed whose total surface area is S
surface area of sphere is A. Then which

1S correct.
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(a) A = 3S (b) A =28
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ABCDI:T:BEN‘%H%JTAB-aEIq gd @I




If ABCD is a square and radius of small
circle is 3 cm and AC is a arc them. Find
out the radius of bigger circle.

ABCD U&% d7 & a2l AC Ud 99 Wil B &l
a%r—dmﬂaﬂmwﬁlzrﬁtméﬁms
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If ABCD is a square and radius of small
circle is 3 cm and AC is a arc them. Find
out the radius of bigger circle.
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ABCD is a square having side 6 cm.
BDEF is also a square having side 2 cm.
Then find out r radius of circle.
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If Area of QFCE = 20 area of DRF = 3
Area of PBE = 2. Find out area of shaded

region?
gf¢ QFCE &1 &0 = 20, DRF &T &0 = 3 31}
PBE &1 &0= 2 dl S1gifed AT &1 &0 sid
CARPeT Tha By
Ahades onga
= 013+ 2~




In the above diagram ABCD is a
rectangle whose length and width area 8
cm and 6 cm respectively. A rectangle
AEFC is formed whose one side is the
diagonal AC of the former rectangle and
the side opposite to it touches the
former rectangle of point D, then the
ratio of the area of rectangle ABCD to
the area of rectangle AEFC is?

fam # ABCD & 3maad =, Rl o«€E
disTe a3 8 cm 3 6 cm &, AEFC Us
T AT 1T AT ® R d) @ qor ugd
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ABCD @ &3%d &I 3Mad AEFC & &a%d

d IUTd F4T © |







The difference between the area is of a
square and an equilateral triangle
formed on same base is %« cm?2 The
length of the side of triangle is.

WHE ATER 9l 9 AR gHarg By @
@AG BT FX Y. QA2 e Brga &1 qor )
qiaTs dT 27

(a) (4—@); cm (b) (4+J?_:); cm
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ﬁ ‘ There is a circular plate of area Ai. A

A

A=3C
‘)aﬁlAa < 16A2 (b) A,A, > 16A>

circular plate of area A2 is cut from it
assuming it’s radius as diameter. The

A, remaining area is . glgumied by As. Then

AA%d A1 B Uh JTd] ddboll < 83 2
sUd] BSAT &1 O A1d 8U Az #ABA DI
Udh GOSN ddoll Az 394 9 $Ic ol Wrdl
§|maﬁﬁfﬁmmmumﬁfﬁé




Length of each side of a cube is ‘a’ cm.
and a pyramid is placed on the surface

of the cube. If the height of the pyramid
1

1 Eof the side of the cube. Then find

the ratio of volume of cube and
pyramid?
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